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CBT Sample assessment model answers

Introduction to Payroll (INPY)
Sample assessment 2



Task 1 (8 marks)
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Task 1, continued 
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Task 2, continued (4 marks)
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Task 3 (5 marks)
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Task 4 (8 marks)


[image: ]

[image: ]
[bookmark: _GoBack]

Task 4, continued 
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Task 5 (5 marks)
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Task 6 (20 marks)
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Task 7 (4 marks)
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Task 8 (16 marks)

[image: ] 

[image: ]

Copyright © 2016 AAT
All rights reserved. Reproduction is permitted for personal and educational use only. No part of this content may be reproduced or transmitted for commercial use without the copyright holder’s written consent.



Copyright © 2016 AAT
image3.png
Employers can run two types of payroll, positive or negaive.

(€) Identify whether or not each of the following statements describes a feature of a
positive or a negative payroll.

No paymentis made unless data s entered into the system. [Positive payroll v
Paymentis made based on a fixed value held in the system. [Negative payroll v

(@) Identity if the following statement s true o false.

Aweekdy paid payroll will always be a negative payroll [frue
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(a) Identify whether each of the following statements is true or false. (2 marks)

Payments for any period of holiday leave must be in addtion to the =

employee’s statutory entitlement.

Ifan overpayment of holiday pay has been made, a reduction in pay
needs to be made.

Paymentfor statutory leave can only be made ifthe employee meets key criteria.

(b) Complete the following statement by selecting the correct option from the drop-down ist. (1 mark)

Aworman taking materniy leave will oy be entitled to payment of statutory maternity pay (SWIP) f her

‘average eamings are equal to, orin excess of [ine lower eamings limit in the qualifying week.

(€) Whatis the minimum time an employee has to have worked for an employer at the.
qualifying week to receive statutory maternity pay? (1 mark)

30 weeks

26 weeks

15 weeks
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(a) Complete the following statements about income tax regulations by selecting the.
‘correct options from the dropdown lists. (2 marks)

‘The suffixtax code shows the amountthatis [deducted from gl taxable pay before.

calculating the income tax due.

‘The tax code of an employee who is in receipt of the marriage allowance from their partner

(b) Which ONE of the following payroll transactions would be classified as ‘pre-tax
adjustments' for the purposes of income tax calculations? (1 mark)

A deducion to be paid o a registered charity via an approved agency.

An employer's contribution to the employee’s personal pension scheme.

Employers are required to determine the correct National Insurance category o applyto a
person on the payroll, based on the information it holds aboutthat person

‘The following information can be found in the payroll system:

+ Tomis 58 years old.
* Tomis only being paid a company pension and is not receiving a wage.

(€) Which ONE of the following National Insurance categories is the correct one for Tom's.
circumstances? (2 marks)

e/ T v |
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(a) Identify whether or not the following statements are true or false. (2 marks)

If anew employee does not have a valid National Insurance number,
e employers not permied fo make payments to hem v

ANational Insurance number of 000000000, or blank,is a valid
National Insurance number.

Allnew employees have to be setup with the correcttax code, depending on their circumstances and the
‘documentation they submit o their employer.

(b) Identify, in each of the following circumstances, the correct tax code the employer
‘should apply in the first payment made to a new employee. (4 marks)

P45 received with 1100L, valid for current tax year
‘and correct plus starter declaration with box B
ticked.

No P45, starter declaration provided and signed,
butwith no box icked.
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ircumstance

Invalid P45 received with 1100L, plus starter
declaration with box B ticked.

11000

1060L
m

BR

ot

No P45, starter declaration provided and signed,
but with no box ficked.
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{c) Identify in each case below if the document s, or is not, acceptable for a valid National
Insurance to be entered into the payroll. (2 marks)

Anote from the employee's bank

Aletter from HI Revenue & Customs.
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(a) In each of the following circumstances, identify which is the most appropriate source of
authorisation for a payroll change.

Instruction to pay overtime to an employee.

Increase the amount of pension contribution

Change oftax calculation

(b) Identify whether the following statement s true or false.

Payroll does not require the employee’s authorisation to change their
‘address details on record fthe employee’s manager asks for the change.

3 marks)

(2 marks)
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(a) Using the information calculate Eira’s gross pay for the month, identify the necessary

deductions and show the resuling net payment to be mad. 5 marks)
— Amount Totas

Salary 2500

Back pay 200

Total pay 2700

Income tax 37330

Nafional Insurance confribution 2336

Pension contributions 135

Total deductions 75166

Netpay 104834
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(b) How much will Donald be paid for the week, to two decimal places, if he worked a
normal week (37 hours, Monday to Friday) plus three hours on Saturday and three
hours on Sunday? if your answer is zero, enter '

Description b
Pay for contracted hours 34225
‘Overime pay (Monday to Friday) o
Overtime pay (Saturday) 41es
Overime pay (Sunday) 850
Total pay 43038

(5 marks)
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An employer is closing down his business and produces his final payroll run for payment of net pay to
‘employees on 30 September. He now has a final payment of PAYE to make to HMRC by electronic transfer.

(a) Which ONE of the following statements best describes the date by which this payment
must be made to HMRC? (1 mark)

19 October 22 October

(b) Complete the following statement, regarding failure to make PAYE payments on time,
by selecting ONE option. (1 mark)

An employer who s late making a single PAYE payment to HMRC willincur

[rterest charges untl payment s mace g

{c) Identify whether the following statements are true or false. (2 marks)
Statement True (Faise

Paying an employee by use ofa prepaid card s awl as ong as e employee nas

access 10 heir net pay on, or before, the pay day refrred t n the empioyment contact v

Persisentate payment of employee net pay by an employer wil esultin a complance
visitby HURC v
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(a) Using the information given in the pop-up window below, enter the missing items to
complete the pay advice for the employee.

nal information

Tax and Niinformation

(14 marks

Name Venkat Kapoor |NI number |YY419854D v
Payroll ID |5932,0 |Tax code 1060L |
ey |
oasicsatn 285000[neome pev
oveime o500 o s
v | v
Gross por 304500 [Tote deducions )
etpay 21779
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(b) Identify whether the following statement is true o false. 2

An e-paysiip is not classed as a wiitien, itemised pay advice. Far





image1.jpeg
aat





image2.png
Employers are required to apply strict security and confidentiality procedures when receiving and using
employees’ personal data.

(a) In each case below, identify f the information is, or s not, personal data for the
purposes of data security. 3 marks)

Information

Employers name

Employee’s name.

‘Taxbasis (cumulative or non-cumulative)

Payroll staffare required to keep their knowledge of data security rules up to date at alltimes.

(b) Which source should payroll staff rely on to keep up to date on data security rules? (2 marks)

"Payroll staff should have regular updates from the appropriate government depariment.

Payroll staff should wait for specific instructions from the appropriate government department.

Payroll staff can rely on employees to tell them of any changes.





